residual of frame 0, mean = 1.3310447931289673 +- 9.550808906555176
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residual of frame 5, mean = 0.19124430418014526 +- 9.515555381774902
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residual of frame 6, mean = 1.2713605165481567 +- 9.549652099609375
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residual of frame 7, mean = 0.6526539921760559 +- 9.528392791748047
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residual of frame 0 - 1, mean = 5.734371662139893 +- 13.596996307373047
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residual of frame 2 - 3, mean = 0.7423539757728577 +- 13.531335830688477
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residual of frame 3 - 4, mean = -0.6931511759757996 +- 13.575305938720703
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residual of frame 6 - 7, mean = 0.6187065839767456 +- 13.525390625
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dual of frame 8 - 9, mean
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residual of frame 9 - 10, mean = 3.756077289581299 +- 13.477217674255371
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